



Eggs for breakfast: long-term impact on body weight

Final Report

Final Project Report | October 2020

A report for Australian Eggs Limited
by Associate Professor J.B. Keogh and
Professor Peter Clifton

© 2020 Australian Eggs Limited.
All rights reserved.

ISBN 978-1-920835-47-7

Project Title: Eggs for breakfast: acute satiety responses and long-term impact on body weight

Australian Eggs Limited Project Number 1NM902

Report Description: Final Report – Eggs for breakfast: long-term impact on body weight

The views expressed and the conclusions reached in this publication are those of the author and not necessarily those of persons consulted. Australian Eggs Limited shall not be responsible in any way whatsoever to any person who relies in whole or in part on the contents of this report.

This publication is copyright. However, Australian Eggs Limited encourages wide dissemination of its research, providing that it is clearly acknowledged. For any other enquiries concerning reproduction, contact the Innovation Program Manager on 02 9409 6999.

Researcher/Author Contact Details

Name: Associate Professor Jennifer Keogh
Address: School of Pharmacy and Medical Sciences, The University of South Australia,
Adelaide, SA 5000
Phone: 08 83022579
Email: jennifer.keogh@unisa.edu.au

In submitting this report, the researcher has agreed to Australian Eggs Limited publishing this material in its edited form.

Australian Eggs Limited Contact Details:

Australian Eggs Limited
A.B.N: 6610 2859 585
Suite 6.02, Level 6, 132 Arthur St
North Sydney NSW 2060

Phone: 02 9409 6999
Fax: 02 9954 3133
Email: research@australianeggs.org.au
Website: www.australianeggs.org.au

Published in October 2020

Foreword

This project was conducted to investigate the impact of consuming 2 eggs for breakfast on 5 days per week over a 6- month period on body weight, body composition, glucose and lipids and Vitamin D status. Prior to conducting this study there was evidence to suggest that a higher protein diet helps people lose weight and maintain weight loss. However, few studies had examined the effects of an energy restricted diet with eggs for breakfast on weight loss. The primary outcome of this study was weight loss with secondary outcomes of fasting body composition, blood lipids, glucose and Vitamin D status.

This project was requested by Australian Eggs Limited the producer owned company that integrates marketing, research and development and policy services for its stakeholders. The research and development component, of which this Project forms part, is funded by the Australian Government.

This report is an addition to Australian Eggs Limited's range of peer reviewed research publications and an output of our Innovation program, which aims to support improved efficiency, sustainability, product quality, education and technology transfer in the Australian egg industry.

Most of our publications are available for viewing or downloading through our website:

www.australianeggs.org.au

Printed copies of this report are available for a nominal postage and handling fee and can be requested by phoning (02) 9409 6999 or emailing research@australianeggs.org.au.

Acknowledgments

The author would like to acknowledge the help of Ms Jess Murphy, Ms Louise Massie and Dr Michelle Headland in conducting the study and Prof Peter Clifton's role in medical supervision and data analysis. The study was conducted at the University of South Australia's (UniSA) Clinical Trial Facility (CTF). The author would also like to thank the study participants.

Australian Eggs Limited provided the funds which supported this project.

About the Authors

A/Prof Jennifer Keogh was appointed A/Professor of Dietetics and Human Nutrition in the School of Pharmacy and Medical Sciences at UniSA in 2010. Her research is on the prevention and management of chronic disease using dietary change to achieve health benefits in obesity, diabetes and cardiovascular disease. Her most recent publications are on the use of intermittent dieting as a strategy for weight loss and diabetes management. She has 129 published articles, h-index of 45 and 7210 citations (Google Scholar September 2018). A/Prof Keogh has worked collaboratively with industry over many years.

Professor Peter Clifton is a physician and nutrition scientist. He is an Adjunct Research Professor in nutrition at the University of South Australia. He has clinical and research interests in the prevention and treatment of cardiovascular disease, lipid disorders, type 2 diabetes and obesity. He has over 300 published articles.

Table of Contents

Foreword.....	ii
Acknowledgments.....	iii
About the Authors	iii
List of Tables (Click in List of Tables below and press F9 to update)	vi
List of Figures (Click in List of Figures below and press F9 to update).....	Error! Bookmark not defined.
Abbreviations (Update as appropriate)	vii
Executive Summary.....	viii
Overall Conclusions.....	ix
1 Introduction	i
1.1 Aim	i
1.2 Hypothesis.....	ii
1.3 Design.....	ii
1.4 Methods.....	ii
1.4.1 Population	ii
1.4.2 Inclusion Criteria	ii
1.4.3 Exclusion Criteria.....	ii
1.4.4 Ethics	ii
1.4.5 Recruitment	ii
1.5 Health Status.....	ii
1.5.1 Protocol.....	iii
1.5.2 Diets	iii
1.5.3 Biochemistry	iii
1.6 Participant Support	iii
1.7 Statistics	iii
2 Results.....	iii
2.1 Participants	iii
2.2 Baseline characteristics of participants	iv
2.3 Weight and Vitamin D at 3 months.....	v
2.4 Weight, Glucose, Lipids and Vitamin D at 6 months.....	v
2.4.1 Weight.....	v
2.4.2 Glucose.....	v
2.4.3 Lipids	vi
2.4.4 Vitamin D.....	vi
2.4.5 Body composition	vii

2.5	Discussion.....	vii
2.6	Conclusion.....	viii
References		1
Plain English Summary		2

List of Tables

Table 1. Baseline characteristics -All

Table 2. Baseline characteristics -Women

Table 3. Baseline characteristics -Men

Abbreviations (Update as appropriate)

BMI	Body mass index
CTF	Clinical Trial Facility
DEXA	Dual energy X-ray absorptiometry
SD	Standard Deviation
HDL	High Density Lipoprotein
LDL	Low Density Lipoprotein

Executive Summary

The aim of the study was to investigate, over 6 months, the impact of consuming 2 eggs for breakfast on 5 days per week compared with eating cereal for breakfast on body weight, body composition, glucose and lipids and Vitamin D status.

The primary outcome of this study was weight loss. Secondary outcomes were body composition, fasting blood lipids, glucose and Vitamin D status. Body composition (lean and fat mass) by DEXA was measured at baseline but could not be measured at 6 months because of restrictions imposed by COVID-19.

Methods

This was a randomised parallel study of two energy restricted diets that compared consuming 2 eggs for breakfast on 5 days per week compared with eating cereal for breakfast, over a 6- month period. Both diets had a similar energy content.

Measurements

Participants attended the UniSA's Clinical Trial Facility in the morning having fasted overnight for the measurement of weight, height and DEXA and to have blood samples taken.

Results

Participants

There were 466 enquiries following advertisements on social media, in newspapers and on the radio. Seventy-seven people were not eligible on preliminary screening or did not want to participate once they were informed about what was required in the study. Further information was sent to 389 participants of whom 131 returned the Diet and Lifestyle Questionnaires and were assessed for eligibility. One hundred and ten participants, age 56 ± 16 years, BMI 34 ± 6 kg.m², 84 women and 26 men, were randomised to commence the study.

Outcomes

Seventy-six participants completed the study, 33 in the egg group and 43 in the cereal group. Weight loss in completers was 8.1 kg (± 7.0 kg) in the egg group and 7.3kg (± 4.0 kg) in the cereal group.

Percent weight loss was $8.8 \pm 6.4\%$ in the egg group and $7.6 \pm 4.6\%$ in the cereal group.

There was a significant effect of time ($P < 0.001$) but there was no differential effect of diet ($p = 0.56$). Gender and baseline BMI had no significant effect when added as covariates. The egg group had 2 individuals with very large weight losses of >20 kg which made the data skewed. Removal of these 2 individuals normalised the data but had no effect on the results but the egg weight loss was slightly lower at 6.7 kg ± 4.6 kg. The percentage weight loss was very similar in the normalised group 7.9% eggs and 7.6% cereal. Weight loss had no effect on glucose and lipids which were all normal to begin with. Vitamin D was normal (55 ± 18 nmol/L) at baseline rose at 3 months and fell at 6 months but still remained higher than baseline ($P < 0.001$ for time). There was no difference between the two groups. Vitamin D levels were inversely correlated with BMI ($r = -0.22$, $p = 0.025$) and positively with age ($r = 0.26$, $p = 0.009$) and change in Vitamin D was positively correlated with weight change at 3 and 6 months ($r = 0.46$ and $r = 0.41$ both $p < 0.001$). Withdrawals were 21 for eggs and 13 for cereal ($p = 0.1$). More than 70% of the participants were obese (79 of 110) with BMI 36.3 ± 5.8 kg/m². In a post-hoc analysis when only obese participants were included in the analysis of vitamin D there was an effect of time ($p < 0.01$) and a time by diet interaction ($p < 0.04$) such that participants on the egg diet maintained the increase in vitamin D levels at 6 months.

Overall Conclusions

Both eggs and cereal eaten for breakfast during an energy restricted diet resulted in similar weight loss. There were no adverse effects on total and LDL cholesterol which did not change. Vitamin D rose at 3 months and declined at 6 months but remained higher than at the start of the study. In a post-hoc analysis participants with obesity on the egg diet maintained a higher vitamin D level at 6 months than those in the cereal group. This remains to be clarified in a prospective study.

1 Introduction

Obesity

Australia is experiencing rising rates of overweight and obesity. In 2017-18, two thirds (67.0%) of Australian adults were overweight or obese (12.5 million people), an increase from 63.4% in 2014-15 (AIHW 2019). All these individuals are at increased risk of developing diabetes, heart disease and certain cancers. Development of evidence based dietary strategies for weight loss is important given that many adults are trying to lose weight. A recent systematic review and meta-analysis of personal weight control attempts worldwide estimated that 42% of adults reported trying to lose weight (Santos, Sniehotta et al. 2017).

Breakfast

Eating breakfast can assist individuals to lose weight and maintain weight loss (Megson, Wing et al. 2017, Paixao, Dias et al. 2020). There are few recent data on the numbers of people who eat breakfast in Australia. In the Australian Health Survey (2011-12), breakfast cereals were eaten by 36% of the population with a further 7% eating porridge. Data from the 1995 National Nutrition Survey indicates that more than 77% of people ate breakfast but fewer than 10% had a cooked breakfast, with cereals, bread and milk being the most frequently eaten foods. Few studies have examined the effects of an energy restricted diet with eggs for breakfast on weight loss. In an 8-week study greater weight loss of ~1kg was reported in participants on an energy restricted diet that included eggs but there was no effect on weight of including eggs without energy restriction (Vander Wal, Gupta et al. 2008). However this is a small difference over a short time period and longer duration needs to be explored as the finding may have occurred by chance alone. A potential benefit of eggs eaten at breakfast may be that they can help satisfy hunger and improve satiety. In an earlier study we demonstrated that when eggs were eaten for breakfast there was a significantly reduced energy intake at lunch compared with a cereal breakfast with the same energy content ($4518\text{kJ} \pm 1593$ vs $5284\text{kJ} \pm 1814$, $p=0.001$). Satisfying hunger and keeping individuals fuller for longer (increased satiety) is important to help individuals sustain an energy restricted weight loss program.

Vitamin D

Vitamin D deficiency has been well described in obese people which may be due to a dilution effect of the greater volume of fat, liver and muscle (Vranić, Mikolašević et al. 2019). Data from the 2011-2013 Australian Health Survey reported that 20% of adults (19% men; 21% women) were vitamin D deficient ($<50\text{nmol/L}$) and 43% were classified as Vitamin D insufficient (45% men; 42% women) (Malacova, Cheang et al. 2019). Adequate Vitamin D levels are important for bone health and increasing egg intake may improve Vitamin D status. The vitamin D content of eggs is $8.2\mu\text{g}$ per serve (2 eggs – edible portion 104g) or $7.9\mu\text{g}$ per 100g. As the adult adequate intake (AI) in Australia is $10\mu\text{g}$, one serving of eggs provides 82% of the AI.

1.1 Aim

To investigate the impact of consuming 2 eggs for breakfast on 5 days per week over a 6- month period on body weight, body composition, glucose and lipids and Vitamin D status.

Outcomes

The primary outcome of the study is weight loss. The study will show if greater weight loss is achieved on an energy restricted weight loss diet that includes eggs ≥ 5 days per week compared with an energy restricted weight loss diet that includes cereal for breakfast.

Secondary outcomes are the effects of the diet on blood lipids and glucose and Vitamin D status.

1.2 Hypothesis

The hypothesis was that the participants who regularly eat eggs for breakfast would have greater weight loss, increased lean mass preservation and better Vitamin D status relative to participants who regularly eat cereal for breakfast.

1.3 Design

This was a randomized parallel design study.

1.4 Methods

Participants were randomized to one of two energy restricted diets, either a diet containing 2 eggs for breakfast on 5 days/week or a diet containing breakfast cereal for breakfast.

1.4.1 Population

The participants in this study were overweight or obese adults. This sample size was based on a previous weight loss study and we anticipated a difference of 2kg between the groups (Noakes, Keogh et al. 2005). We anticipated a drop-out rate of 10-15% and 110 participants commenced so that 95-100 participants would complete the study.

1.4.2 Inclusion Criteria

Participants were >18 years, overweight (BMI >25 kg/m²), who had no health conditions likely to affect the study outcomes, had no food allergies and were able to eat eggs and breakfast cereal. Participants self-reported their health status.

1.4.3 Exclusion Criteria

Exclusion criteria were previous surgery for weight reduction, type 1 or type 2 diabetes, women who were or wished to become pregnant and women who were breast feeding, participant reporting they were unwell or receiving medical treatment or were participating in any ongoing dietary studies. Participants were also excluded if they were unable to eat the study foods which were eggs and cereal.

1.4.4 Ethics

Ethical approval from the University's Human Research Ethics Committee was received before advertising for participants commenced.

1.4.5 Recruitment

Participants were recruited using print and social media, the radio and advertising flyers on the University of South Australia's campus.

1.5 Health Status

Following initial contact with the CTF participants were asked to complete a Diet and Lifestyle Questionnaire to determine if they were eligible to participate in the study.

1.5.1 Protocol

Participants completed a Diet and Lifestyle Questionnaire to determine if they were eligible to participate in the study. They attended the UniSA Clinical Trials Facility (City East campus) on 7 occasions over 6 months. At the first and last visits participants had weight, height (once only) and body composition measured and a blood sample taken. Body composition was measured using DEXA. A blood sample was taken for measurement of glucose, lipids and Vitamin D. Participants fasted from 8pm the night before each visit, with only water permitted. The dietary intervention was explained during the first visit. Participants were asked to keep daily checklists of their breakfasts during the study.

1.5.2 Diets

The diets contained a variety of everyday foods including:

- 1) Eggs, breakfast cereal, wholemeal bread, margarine, milk, fruit, meat, fish, chicken (or equivalent), vegetables and salad yoghurt, potato (or equivalent) **OR**
- 2) Breakfast cereal, wholemeal bread, margarine, milk, fruit, meat, fish, chicken (or equivalent), vegetables and salad, yoghurt (or equivalent) potato (or equivalent)

Compliance to both breakfasts was assessed from the compliance checklists completed by the participants. The cereal group were asked to avoid eating eggs for breakfast but could include eggs at other meals. Both eggs and the breakfast cereal were provided for approximately half of the study until the advent of COVID-19. Following the social closure of the university's research facility vouchers were provided instead so individuals could purchase these foods during their usual grocery shopping for the remainder of the study.

1.5.3 Biochemistry

Blood samples were collected and analysed by a certified commercial laboratory (Clinpath Pathology, Mile End SA 5031 Australia).

1.6 Participant Support

Participants were given a \$150 honorarium on completion of the study in appreciation of their time.

1.7 Statistics

Results are expressed as Mean $\pm$ SD unless otherwise stated.

Analysis of variance (ANOVA) with repeated measures was used to determine the effect of time and treatment. Statistical analysis was performed using SPSS 24.0.

2 Results

2.1 Participants

There were 466 enquiries following advertisements on social media, in newspapers and on the radio. Seventy-seven people were not eligible on preliminary screening or did not want to participate once they were informed about what was required in the study. Further information was sent to 389 participants of whom 131 returned the Diet and Lifestyle Questionnaires and were assessed for eligibility. One hundred and ten participants, age 56 ± 16 years, BMI 34 ± 6 kg.m², 84 women and 26

men, were randomised to commence the study. There was a drop-out rate of 30%. Seventy-six participants completed the study. Withdrawals which were 21 for eggs and 13 for cereal were not statistically different ($p=0.1$).

2.2 Baseline characteristics of participants

One hundred and ten participants, 56 ± 16 years range 18 - 78 years, 84 women and 26 men were randomised to commence the study. One hundred and seven participants attended for the first visit; 53 in the eggs for breakfast group and 54 in the cereal for breakfast group. Three participants did not attend for their first visit. Baseline characteristics are presented in Table 1, Table 2 and Table 3.

Table 1 Baseline characteristics- All

	Eggs (n=54) Mean	SD	Cereal (n=56) Mean	SD
Age- years	54	15	57	15
Weight- kg	94	21	93	18
BMI- kg/m ²	34	7	34	6
Glucose- mmol/L	5.0	0.7	4.9	0.5
Total Cholesterol- mmol/L	5.3	0.9	5.5	0.9
HDL- mmol/L	1.5	0.3	1.5	0.3
LDL- mmol/L	3.2	0.8	3.5	0.8
Triglycerides- mmol/L	1.1	0.4	1.3	0.7
Vitamin D- nmol/L	54	19	55.9	17.1

Blood samples could not be obtained from 5 participants and insufficient blood was obtained from one participant. The laboratory omitted to analyse 2 samples for glucose, 4 samples for total cholesterol, triglycerides and Vitamin D. In addition, eight samples for HDL and LDL were omitted.

Table 2 Baseline characteristics- Women

	Eggs (n = 40) Mean	SD	Cereal (n= 44) Mean	SD
Age- years	55	15	56	15
Weight- kg	89	20	91	19
BMI- kg/m ²	34	8	34	6
Glucose- mmol/L	4.8	0.6	4.9	0.4
Total Cholesterol- mmol/L	5.3	0.9	5.4	0.8
HDL- mmol/L	1.6	0.3	1.5	0.3
LDL- mmol/L	3.2	0.8	3.3	0.8
Triglycerides- mmol/L	1.1	0.4	1.1	0.6
Vitamin D- nmol/L	53	20	54	17

Table 3 Baseline characteristics- Men

	Eggs (n=14) Mean	SD	Cereal (n=12) Mean	SD
Age- years	52	16	61	13
Weight- kg	108	17	101	11
BMI- kg/m ²	34	5	33	3
Glucose- mmol/L	5.5	0.7	5.1	0.5
Total Cholesterol- mmol/L	5.1	0.8	5.8	0.9
HDL- mmol/L	1.3	0.2	1.2	0.3
LDL- mmol/L	3.1	0.7	3.8	0.9
Triglycerides- mmol/L	1.3	0.4	1.6	0.7
Vitamin D- nmol/L	56	18	62	17

2.3 Weight and Vitamin D at 3 months

Eighty-seven participants remained in the study at 3 months; 86 ± 18 kg, n=41 in the egg group and 91 ± 16 kg in the cereal group, n=46. Weight loss (5.2 ± 4.5 kg egg group versus 5.2 ± 2.8 kg cereal group) was not different between the groups. Percent weight loss was $5.5 \pm 4.0\%$ in the egg group and $5.5 \pm 2.8\%$ in the cereal group.

Vitamin D concentrations (64 ± 19 nmol/L, n=38 in the egg group and 65 ± 18 nmol/L in the cereal group) were not different between the groups.

2.4 Outcomes at 6 months

Seventy-six participants completed the study (33 in the egg group and 43 in the cereal group).

Weight loss in completers was 8.1 kg (± 7.0 kg) in the egg group and 7.3 kg (± 4.0 kg) in the cereal group. Analysis by repeated measures ANOVA showed a significant effect of time ($P < 0.001$) with a diet by time effect that was not significant ($p = 0.56$). Gender and baseline BMI had no significant effect when added as covariates. The egg group had 2 individuals with very large weight losses of >20 kg which made the data skewed. Removal of these 2 individuals normalised the data and had no effect on the results but the egg weight loss was lower at 6.7 (± 4.6) kg. The percentage weight loss was very similar in the normalised group with 7.9% for the egg group and 7.6% for the cereal group. Weight loss had no effect on glucose and lipids which were all very normal to begin with. Vitamin D rose at 3 months and fell at 6 months but remained higher than baseline ($P < 0.001$ for time). There was no difference between the two groups ($p = 0.098$ for diet by time). Vitamin D levels were inversely correlated with BMI ($r = 0.22$, $p = 0.025$) and positively with age ($r = 0.26$, $p = 0.009$) and change in vitamin D was positively correlated with weight change at 3 and 6 months ($r = 0.46$ and $r = 0.41$ both $p < 0.001$).

Compliance: All 76 participants who completed the study completed the compliance checklists. Overall compliance to both breakfasts was approximately 95% assessed from compliance checklists completed by the participants.

2.4.1 Weight loss

Weight loss in completers was 8.1 kg (± 7.0 kg) in the egg group and 7.3 kg (± 4.0 kg) in the cereal group. There was no difference between the groups.

Percent weight loss was $8.8 \pm 6.4\%$ in the egg group and $7.6 \pm 4.6\%$ in the cereal group.

2.4.2 Glucose concentrations

Glucose concentrations did not change (5.1 ± 0.7 to 5.1 ± 0.5 mmol/L in the egg group versus 5.0 ± 0.8 to 5.2 ± 0.7 mmol/L in the cereal group).

2.4.3 Lipids

Total cholesterol concentration

There was no change in total cholesterol levels (5.4 ± 0.8 to 5.4 ± 1.0 mmol/L egg group and 5.4 ± 0.8 to 5.3 ± 0.9 mmol/L in the cereal group).

HDL cholesterol concentration

There was no change in HDL-cholesterol levels (1.5 ± 0.3 to 1.5 ± 0.3 mmol/L egg group and 1.5 ± 0.3 to 1.4 ± 0.3 mmol/L in the cereal group).

LDL cholesterol concentration

There was no change in LDL cholesterol levels (3.4 ± 0.7 to 3.4 ± 0.8 mmol/L egg group and 3.4 ± 0.7 to 3.3 ± 0.9 mmol/L in the cereal group).

Triglyceride concentration

There was no change in triglyceride levels (1.2 ± 0.4 to 1.1 ± 0.4 mmol/L egg group and 1.2 ± 0.5 to 1.2 ± 0.5 mmol/L in the cereal group).

2.4.4 Vitamin D concentrations

Mean vitamin D was within the normal range at baseline. It rose at 3 months and fell at 6 months but remained higher than baseline ($P < 0.001$ for time). There was no difference between the two groups ($p = 0.098$ for diet by time). Vitamin D levels were inversely correlated with BMI ($r = -0.22$, $p = 0.025$) and positively with age ($r = 0.26$, $p = 0.009$) and change in vitamin D was positively correlated with weight change at 3 and 6 months ($r = 0.46$ and $r = 0.41$ both $p < 0.001$).

Baseline	3 Months	6 Months
Egg group		
52.9 ± 15.7 nmol/L	65.8 ± 1.64	58.3 ± 20.0 nmol/L
Cereal group		
56.7 ± 17.0 nmol/L	64.7 ± 17.0 nmol/L	58.6 ± 1.4 nmol/L

More than 70% of the participants were obese (79 of 110) with BMI 36.3 ± 5.8 kg/m². In a post-hoc analysis when only obese participants were included in the analysis of vitamin D there was an effect of time ($p < 0.01$) and a time by diet interaction ($p < 0.04$) such that participants on the egg diet maintained the increase in vitamin D levels seen in both groups at 6 months.

		Mean	SD	N
Baseline Vitamin D	Eggs nmol/L	51.7	16.8	22
	Cereal nmol/L	56.2	18.2	29
Vitamin D at 3 months	Eggs nmol/L	66.2	19.7	22
	Cereal nmol/L	64.8	17.6	29
Vitamin D at 6 months	Eggs nmol/L	59.3	22.2	22
	Cereal nmol/L	56.7	17.4	29

2.4.5 Body composition

Body composition (lean and fat mass) by DEXA was measured at baseline but could not be measured at 6 months because of restrictions imposed by COVID-19.

Egg group n=39	Cereal group n=40
Fat Tissue	Fat Tissue
41.5 ± 14.1 kg	42.7 ± 11.8 kg
Lean	Lean
48.1 ± 10.9 kg	49.3 ± 9.4 kg

2.5 Discussion

The main finding of this study was that eating two eggs for breakfast resulted in a similar weight loss compared with cereal for breakfast in an energy restricted diet. There were no adverse effects on total or LDL cholesterol. Overall lipids and glucose did not change. Vitamin D levels rose at 3 months but declined at 6 months but remained higher than the baseline value.

The weight loss seen in this study is consistent with the weight loss seen in other studies (Noakes, Keogh et al. 2005). Noakes et al demonstrated weight loss of 7.3 +/- 0.3 kg on either a higher protein diet or a lower protein diet. This publication formed the basis of the successful CSIRO Wellbeing Diet.

Egg cholesterol elevates LDL cholesterol to a small degree. A meta-analysis by Berger et al 2015 showed that increasing dietary cholesterol from a mean of 214 up to 821mg/day (about 3 eggs) increased LDL cholesterol by about 0.2 mmol/L (Berger, Raman et al. 2015). Thus, an increase of two eggs per day for 5 days per week might increase LDL cholesterol by 0.10 mmol/L which would not be measurable, nor would it have any significant effect on CVD risk. Most data on egg consumption and CVD events in normal subjects has shown no relationship. However a recent paper (Zhong, 2019) of a pooled analysis of six US studies showed each additional half an egg consumed per day was significantly associated with higher risk of incident CVD (adjusted HR, 1.06 [95% CI, 1.03-1.10] and all-cause mortality (adjusted HR, 1.08 [95% CI, 1.04-1.11] (Zhong, Van Horn et al. 2019) which was very similar to that seen by Li et al (Li, Zhou et al. 2013). A larger meta-analysis by Shin et al found no relationship between egg consumption and CVD nor was any seen in the Physicians Health Study although a relationship with total mortality was noted (Djousse and Gaziano 2008, Shin, Xun et al. 2013). On balance the possible relationship between eggs and CVD risk remains unproven.

Participants enrolled in the study between September and December 2019. Therefore, participants commenced the study either at the end of winter, during spring and at the beginning of summer. Vitamin D at 3 months was then measured either at the end of spring, at the beginning and end summer or early autumn. The changes in vitamin D are likely to be related in part to the season in which it was measured and in part to weight loss. It is of interest that in a post-hoc analysis when only obese participants were included in the analysis of vitamin D, participants on the egg diet maintained the increase in vitamin D levels seen in both groups at 3 months. This remains to be clarified in a prospective study in obese participants only.

There are some limitations to the study that should be considered. There was a high drop-out rate of

30% which may have been influenced by the advent of COVID-19. Longer studies often have a higher drop-out rate and we have seen drop-out rates of 56% in a 12-month study and 67% by 24 months (Headland, Clifton et al. 2019). In contrast in a 3-month weight loss study in people with type 2 diabetes we had a drop-out rate of 19% (Carter, Clifton et al. 2016). In the present study 23 people (21%) had dropped out by three months.

Dietary composition and energy intake were not assessed as food records were not kept. We were concerned that food records would increase attrition from the study as they impose an extra burden on participants and are often poorly completed.

The study was conducted in participants with normal glucose and lipids. Nevertheless, it is surprising the LDL cholesterol did not reduce given the 8% weight loss. Greater changes in lipids and glucose levels might have been observed with weight loss if levels had been abnormal at baseline.

A strength of the study is that both eggs and the breakfast cereal were provided for approximately half of the study until the advent of COVID-19 following which vouchers were provided so individuals could purchase these foods during their usual grocery shopping.

2.6 Conclusion

Both eggs and cereal eaten for breakfast during an energy restricted diet resulted in similar weight loss. There were no adverse effects on total and LDL cholesterol which did not change.

References

- AIHW (2019). "Overweight and obesity: an interactive insight." Australian Institute of Health and Welfare.
- Berger, S., G. Raman, R. Vishwanathan, P. F. Jacques and E. J. Johnson (2015). "Dietary cholesterol and cardiovascular disease: a systematic review and meta-analysis." Am J Clin Nutr **102**(2): 276-294.
- Carter, S., P. M. Clifton and J. B. Keogh (2016). "The effects of intermittent compared to continuous energy restriction on glycaemic control in type 2 diabetes; a pragmatic pilot trial." Diabetes Res Clin Pract **122**: 106-112.
- Djousse, L. and J. M. Gaziano (2008). "Egg consumption in relation to cardiovascular disease and mortality: the Physicians' Health Study." Am J Clin Nutr **87**(4): 964-969.
- Headland, M. L., P. M. Clifton and J. B. Keogh (2019). "Effect of intermittent compared to continuous energy restriction on weight loss and weight maintenance after 12 months in healthy overweight or obese adults." Int J Obes (Lond) **43**(10): 2028-2036.
- Li, Y., C. Zhou, X. Zhou and L. Li (2013). "Egg consumption and risk of cardiovascular diseases and diabetes: a meta-analysis." Atherosclerosis **229**(2): 524-530.
- Malacova, E., P. R. Cheang, E. Dunlop, J. L. Sherriff, R. M. Lucas, R. M. Daly, C. A. Nowson and L. J. Black (2019). "Prevalence and predictors of vitamin D deficiency in a nationally representative sample of adults participating in the 2011-2013 Australian Health Survey." Br J Nutr **121**(8): 894-904.
- Megson, M., R. Wing and T. M. Leahey (2017). "Effects of breakfast eating and eating frequency on body mass index and weight loss outcomes in adults enrolled in an obesity treatment program." J Behav Med **40**(4): 595-601.
- Noakes, M., J. B. Keogh, P. R. Foster and P. M. Clifton (2005). "Effect of an energy-restricted, high-protein, low-fat diet relative to a conventional high-carbohydrate, low-fat diet on weight loss, body composition, nutritional status, and markers of cardiovascular health in obese women." Am J Clin Nutr **81**(6): 1298-1306.
- Paixao, C., C. M. Dias, R. Jorge, E. V. Carraca, M. Yannakoulia, M. de Zwaan, S. Soini, J. O. Hill, P. J. Teixeira and I. Santos (2020). "Successful weight loss maintenance: A systematic review of weight control registries." Obes Rev **21**(5): e13003.
- Santos, I., F. F. Sniehotta, M. M. Marques, E. V. Carraca and P. J. Teixeira (2017). "Prevalence of personal weight control attempts in adults: a systematic review and meta-analysis." Obes Rev **18**(1): 32-50.
- Shin, J. Y., P. Xun, Y. Nakamura and K. He (2013). "Egg consumption in relation to risk of cardiovascular disease and diabetes: a systematic review and meta-analysis." Am J Clin Nutr **98**(1): 146-159.
- Vander Wal, J. S., A. Gupta, P. Khosla and N. V. Dhurandhar (2008). "Egg breakfast enhances weight loss." Int J Obes (Lond) **32**(10): 1545-1551.
- Vranić, L., I. Mikolašević and S. Milić (2019). "Vitamin D Deficiency: Consequence or Cause of Obesity?" Medicina (Kaunas) **55**(9).
- Zhong, V. W., L. Van Horn, M. C. Cornelis, J. T. Wilkins, H. Ning, M. R. Carnethon, P. Greenland, R. J. Mentz, K. L. Tucker, L. Zhao, A. F. Norwood, D. M. Lloyd-Jones and N. B. Allen (2019). "Associations of Dietary Cholesterol or Egg Consumption With Incident Cardiovascular Disease and Mortality." JAMA **321**(11): 1081-1095.

Plain English Summary

Project Title:	Eggs for breakfast: acute satiety responses and long term impact on body weight
Australian Eggs Limited Project No	21NM902
Researchers Involved	J. Keogh, P. Clifton
Organisations Involved	University of South Australia, GPO Box 2471, Adelaide, SA, 5001
Phone	08 8302 2579
Fax	-
Email	Jennifer.Keogh@unisa.edu.au
Objectives	The aim of the study was to investigate the impact of consuming 2 eggs for breakfast on 5 days per week compared with eating cereal for breakfast over a 6- month period on body weight, body composition, glucose and lipids and Vitamin D status.
Background	Project requested by Australian Eggs Limited to investigate the above Objective
Research	This was a randomised parallel study of two energy restricted diets comparing eating 2 eggs for breakfast on 5 days per week compared with eating cereal for breakfast over a 6- month period. Both diets had a similar energy content. Participants attended the UniSA's Clinical Trial Facility (CTF) in the morning having fasted overnight for the measurement of weight, height and to have blood samples taken
Outcomes	The primary outcome of this study was weight loss. Secondary outcomes were body composition, fasting blood lipids, glucose and Vitamin D status. Body composition (lean and fat mass) by dual energy X-ray absorptiometry (DEXA) was measured at baseline but could not be measured at 6 months because of restrictions imposed by COVID19.
Implications	76 participants completed the 6-month study. Weight loss was 8.1kg (± 7.0 kg) in the egg group (n=33) and 7.3kg (± 4.0 kg) in the cereal group (n=43). There was no statistical difference between the groups. The egg group had 2 individuals with very large weight losses of >20kg. Weight loss had no effect on glucose and lipids which were all very normal to begin with. Overall Vitamin D was normal at the start of the study (55 $\pm$ 18 nmol/L) it rose at 3 months and fell at 6 months but remained higher than at the start. Vitamin D levels were lower in people who were more overweight and higher in older people. Change in vitamin D was positively correlated with weight change at 3 and 6 months. Both eggs and cereal eaten for breakfast during an energy restricted diet resulted in similar weight loss. There were no adverse effects on total and LDL cholesterol which did not change.
Key Words	Breakfast, energy intake, weight loss
Publications	To be determined